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U= LM ot T2

LM 2UAZF BKG CLS Fare Basis Fare MIN
At Y YOW 335,000
B BOW 320,000
M MOW 305,000
H HOW 285,000
E EOW 260,000
Q QoW 240,000
K KOw 220,000
S SOW 200,000
sl o) o0owW 180,000
L LOW 160,000

NRT w WOowW 140,000 -

Y% VOW 125,000
J Jow 115,000
F FOW 105,000
C Ccow 90,000
T TOW 75,000
R ROW 60,000
u uow 50,000
£t I oW 40,000
X XOW 30,000
AOW 20,000

LM 2UAZF BKG CLS Fare Basis Fare MIN
At Y YOW 277,200
B BOW 260,000
M MOW 245,000
H HOW 230,000
E EOW 220,000
Q QoW 210,000
K KOw 190,000
S SOW 175,000
sl o) o0owW 155,000
L LOW 135,000

KIX w WOwW 120,000 -

Y% VOW 110,000
J Jow 100,000
F FOW 90,000
C Ccow 75,000
T TOW 60,000
R ROW 45,000
u uow 35,000
£t I oW 25,000
X XOW 15,000
AOW 10,000




UE &M ke o2

Lol 24BF BKG CLS Fare Basis Fare MIN
- Y YOow 218,200
B BOW 200,000
M MOW 190,000
H HOW 180,000
E EOW 170,000
Q QoW 160,000
K Kow 145,000
S SOW 130,000
sl o] oowW 120,000
L LowW 110,000

FUK w WOwW 100,000 -

Vv VOW 90,000
J JOW 80,000
F FOW 70,000
C cow 60,000
T Tow 50,000
R ROW 40,000
U uow 30,000
£t I oW 20,000
XOW 15,000
AOW 10,000

C34 2AZF BKG CLS Fare Basis Fare MIN
- Y YOW 270,000
B BOW 250,000
M MOW 230,000
H HOW 210,000
E EOW 200,000
Q QOW 180,000
K Kow 170,000
S Sow 160,000
stol o oow 150,000
L LowW 140,000

TAK w Wow 130,000 -

v VoW 120,000
J Jow 110,000
F FOW 100,000
C cow 90,000
T Tow 80,000
R ROW 70,000
U uow 55,000
£t I oW 45,000
XOW 35,000
AOW 25,000




U= M ot w2
Lol 2e== BKG CLS Fare Basis Fare MIN
- Y YOW 255,000
B BOW 240,000
M MOW 225,000
H HOW 210,000
E EOW 195,000
Q QOW 180,000
K Kow 170,000
S SOW 160,000
sl o) oowW 150,000
L LOW 140,000
YGJ w WOow 130,000 -
Vv VOW 120,000
J Jow 110,000
F FOW 100,000
C cow 90,000
T TOW 80,000
R ROW 60,000
u uow 50,000
£t I oW 40,000
XOW 30,000
AOW 20,000




L0

ro
e

(o)

Mo

L=y 2ATE Fare Basis Fare MAX
o Y YOW 490,000
B BOW 450,000
M MOW 410,000
H HOW 370,000
E EOW 330,000
Q Qow 290,000
K KOW 260,000
S SowW 230,000
stol o oow 200,000
L LOW 180,000

TAG w WOowW 160,000 1v

v VOW 150,000
) JOW 140,000
F FOW 130,000
C cow 120,000
T TOW 110,000
R ROW 90,000
U uow 75,000
Iow 60,000
X XOW 45,000
AOW 30,000

[EHS:

L=y 2ATE Fare Basis Fare MAX
o Y YOW 500,000
B BOW 450,000
M MOW 410,000
H HOW 370,000
E EOW 330,000
Q Qow 290,000
K KOW 260,000
S SowW 230,000
stol o oow 200,000
L LOW 180,000

DAD W Wow 160,000 1Y

v VOW 150,000
) JOW 140,000
F FOW 130,000
C cow 120,000
T TOW 110,000
R ROW 90,000
U uow 75,000
Iow 60,000
X XOW 45,000
AOW 30,000




L0

ro
e

(o)

Mo

L=y 2ATE Fare Basis Fare MAX
o Y Yow 520,000
B BOW 480,000
M MOW 440,000
H HOW 400,000
E EOW 360,000
Q QoW 330,000
K KOwW 300,000
S sow 270,000
a0l 0 oow 240,000
L LOW 220,000
CXR W WOW 200,000 1Y
v VOW 180,000
J Jow 165,000
F FOW 150,000
C cow 135,000
T TOW 120,000
R ROW 100,000
U uow 85,000
oW 70,000
X XOW 55,000
AOW 40,000
[EH9:
L=y 2ATE Fare Basis Fare MAX
o Y Yow 415,000
B BOW 395,000
M MOW 370,000
H HOW 345,000
E EOW 320,000
Q QoW 295,000
K KOwW 270,000
S sow 260,000
stol 0 oow 250,000
L LOW 240,000
GUM W WOW 220,000 1Y
v VOW 200,000
J Jow 190,000
F FOW 180,000
C cow 170,000
T TOW 160,000
R ROW 150,000
U uow 130,000
oW 115,000
X XOW 95,000
AOW 75,000




ST k& = T2
[Erl: &

= 2455 BKG CLS Fare Basis Fare MIN MAX
" Y YOow 668,000
B BOW 620,000
M MOW 580,000
H HOW 540,000
E EOW 500,000
Q Qow 460,000
K KOw 420,000
S sow 380,000
stol o oow 350,000
L LOW 330,000

DYG W WOW 300,000 - 1Y
% VOW 280,000
J Jow 260,000
F FOW 240,000
C cow 220,000
T TOoW 200000
R ROW 180,000
U uow 160,000
£t | Iow 140,000
X XOW 120,000
AOW 100,000




